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Serial No.Question Option A Option B Option C Option D RIGHT OptionRight Answer

1
The ____________ is not qualitative 
method of demand forecasting.

Jury of executive 
position Time series 

Consumer survey 
method 

Assesment by sale 
personnel. B Time series 

2
The ________ is not quantitative method of 
demand forecasting. Delphi method 

Exponential 
smoothing 

Simple moving 
average Casual method A Delphi method 

3

_________ management, production 
control and physical distribution are the 
three major operations of logistics. Supply chain Transportation Logistics Material D Material

4
__________ is not a part of supply chain 
management system. Competitor Funds flow Manufacturer Informational flow A Competitor

5

Manufacturing support logistics 
commences as soon as a planned order is 
converted into a ______ order. Material Process Production Transport C Production

6
The fastest and most costly mode of 
transport is ____________. Air transport Water transport Ropeways Railways A Air transport 

7
A ____________kind of transportation 
where no empty wagons or containers are Rail Road Pipleline Water C Pipleline

8
__________ inter modal transportation 
which combines air and road. Fishy back Birdy back Land bridge Piggy back B Birdy back 

9 _________ is not type of piggy back. TOFC TTFC COFC LASH D LASH

10
Corrugated fiberboard used for packaging is 
commonly kown as ___________ board. Corrosive Card Case Non-corrosive B Card

11 _________ costing is a type of logistics Consumer Employee Activity based Government C Activity based 

12
The ____________ is not internal 
performance measure of logistics Cost Productivity Benchmarking

Asset 
measurement C Benchmarking

13
__________ is not an element of order 
costing. Storing cost 

Internal cost for 
sourcing 

Internal cost for 
placing purchase 

Telephone cost to 
supplier A Storing cost 

14
___________ is an example for pull type of 
inventory system. MRP JIT EOQ ABC B JIT



15
____________ is not Asset Performance 
measure of logistics Performance.

Inventory carrying 
cost 

Return on net 
assests Ordering cost 

Return on 
investment C Ordering cost 

16
A ___________ network of highways 
connecting India’s four metropolitan cities.

Golden 
quadrilateral Logistics park 

Deep water 
ports Airports A

Golden 
quadrilateral 

17
__________ from the following is not a 
component of 4PL. Control room 

Resource 
providers Information Recycling D Recycling

18
Companies manage their global supply 
chain through ___________. Information Competitors Skilled operators Material A Information

19 GIS is ___________ information system. Geographical Material Storage Transport A Geographical

20
Basic requirements of logistics park are 
land, area, __________ and Human Storage Order Warehouse Connectivity D Connectivity


